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2. (6—1)X3+1=16(H).
CAX 24 3=11(Fh),
CFIEECEL 20 3. 4. 5 JRRT4LEL:
(1)5X4X3=60(4),
(2)2X 4 X 3=24(A),
(3)2+2X4+2X4X3+2X4X3X2+2X4X3X2X1=130(4),
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O (18 + 8) = 2=13 (FoR/IF) 5 AKE: (18—8) = 2=5(FK/If ).
- KR s 114 = 6 =19 (ToR/I) 5 M 19—3 =16 (TR/I ).
ST NG s 16—2 = 14 (FoR/IF) , FTLL 112 + 14 = 8 (/NI ),
i BB RIN T x AN WA — RN (35—x) 4

36x =48 (35—x)
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10. 30 = 2=15(H)
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WKL : 24 + 8 X 2=40 (F2K/BF) . Frlh: 360 <+ 40 =9 (/B )
9. fifk: BWOEA AR, MPEA (x—15) F3E.
3(x—15)=x+145
x =95
x—15=95—15=280
10. fift: BIXPYANELRFN <o
(x—22) + (x—24) + (x—27) + (x—20)=x
x=31
x—22=31-22=9
x—24=31-24=7
x—27=31-27=4
x—20=31—-20=11

HE%3 AE BE
— WA, (3E144))

1. 124, 2.1500000, 3. 241000, 4. 33333,

5 A=60, B=4, C=5,

6. A=(15), @=(20), wm=(14), % =(20),
SEATAE 75, SE=FURE T4, SEPUBIFIE 86,

=N B, (GR214)

1. 847 10, 105 8-B47: 6, 15, &)\F7: 35, 7,
2. (75" )
5 () 5 6.
4. (JFEER), (120),
5. (15), (2), (97),
6. (83) F1(24),
7.(17)e 8 X2+ 1=17,
8. 15+ 10 + 5=30; 15X 10 X 5=750; 15 X 10 + 15 X 5 + 10 X 5= 275,
9. 1618 7|45 2|19 3
9 1 2|3 674 8|5
43 5|81 9|7 6|2
86 1|29 4|3 57
3 7 4|1 8 5|6 29
52 9|6 7 3|81 4
7965 3/1]2 48
25874 6|9 31
14 3|9 2 8|5 76
= BB, (F£1543)
1.5X 4=20(FF), 202 =20=10( ) - 2(0), 10+ 1=11( A).
2. FEME 45 BERRMBCEE TRAE M 5 RN O BERRIVELAVERAE . REBE 5 BEBRIEUERE MR 0 5% 5, % I8 REHE
9 FERRIVECRAFAE, AR E] 519930 F1 919935,
3. 5k 50 X (10—1) = 25 =18 (k/FH) ., Bik: 18 X 80 =1440 (),

4. K (26—18) = 2=4 (Fok/0f) 5 WKBTFHEFE: 240 + (20 + 4) =10 (/N )3
WK FT ] 240 + (20—4) =15 () 5 —FLFFRIASE]: 10 + 15 =25 (/NI ).
5. fif: BRI x NI K
60 (x—1)=40(x+1)
x=5

60 X (5—1) =240 ( T2k ) 8 40 X (5+1) =240 ( Tk ).
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8%
o)
%
M
vy)
df
)
4

— WHEE.  (3t134))

1. 10,
2. 2200,
3.7,
4.0,
5.0=57; A=20; []=180,
6. m=(13); ©=(24); [=]1=(35), PUFIFIE 96,
T s, (3h2243)
1@1[53 i ] ) k.
2. (18°
3. (138)
4. (50),
5.(13), (11), (9),
6. (1323334353),
TA3X3+2+1=42: 13X3+2+2+1=44: 4 X 4+2+1=19,
8.3X3X3X3=81; 12X 9 X 6 X 3=1944,
9-[37875[7 6427119
79 4[5 1 2|6 8 3
21 6|39 8]7 54
57 3[4 891 2 6
94 1|27 6|5 3 8
8 6 2153|947
63 8[9 2547 1
150984 7|36 2
42 7063 1|89 5
= BB, (F£1543)

1. 100 = 4 + 1 =26, 26 = 3=8:----- 2,8+ 1=9;

(100 + 0) X 26 =2 +(3+4+5)X 8+ 3+ 4=1403,
2. RS, EIAEREASFMEL ﬁﬂﬁ’l‘ﬁﬂ‘]ﬁGW%%Q/ﬁEﬂ?\ 2AVHEBR. 24K, 1A RERL ANHE
Ry 1A EER TANEER. 1’!‘345*1/\%}*) 3L 9 PP AL ; 50—9—5(J\) """" 5(N), 5+1=6(AN )
3. FUZEFEE: 240 = 16 = 15 OR/Fp) ﬁJi’? $E’J1§F‘%ﬂ 243 +9=27CK/F) ;

TREHPE: 27—15=12 OR/FP).
4. fifFE: 1000 + 4 =250 (Ok/43); SMEES TR E BT 250 (COR/43) -

FHIEEFE] : 1000 X 45 = 250 = 180 (43) = 3 (/)
5. M W x RJG SR ETARGE I M 2fE

2(40 + 4x) =062 + 9x

x=18

— PHEE.  (3£1043)

99,

3,

25,

50000,

& (19) A=(33); W=(27), 55 4 fTHIFIE 125,
(3£2043)

Uik o=

)
SE
rﬁ

(4)

(75" )

(42),

(104),

(31075),

(24), (26), (28),
(1) (13); (2) (14).
(4)o

PN e N
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10.

830965 7]2 1 4
6 72|94 1|58 3
15 4|8 3 2[9/6 7
54 1128317 96
2.8 7149 613 51
9 6 3171 514 28
71 8132916 45
32 5116418 7 9
4.9 6|57 8|1 3|2
BEEREEN

LK

= g (3k204)

100 = 5=120, 100 = 25=4, 20 + 4=24;

200 = 5=40, 200 - 25=8, 200 = 125=1---75, 40 + 8 + 1 =49,

C4yREEE . BRAID AR 4 X 3 X 3=236(Fh)

BRID A : 4 X 3 X 2 X 2= 48 (F) . I 36 + 48 = 84 (Fit).

CBIZEE R (290—250) <+ (25—23) = 20 (R/FD)

B 44Ky 20 X 25—290 = 210 (2K ), (210 + 270) = (20—16) =120 (F) »

- WKAUAT 12 Fok . BARRAT 7 TORICH 5 /N, MIBUKATTT 48 Tk, KT 28 FORILA 20 i)

S WUKMAT 48 Tk, BKMiAT 8 TORIEA 10 N ELAR Y -
WKMAT 20 FORTE A0 NI, HIEARHERE : 20 + 10 =2 (FK/IF )

M 48+ (105 5.2) = 8 CPA/I)
B (B +2) = 2=5(FH/):

K (8—2) +2=3(THK/MF)o

- AR A A

(x—4)+ (x+4) + (x+4)+ (xx4)=250
x = 40

H: 40—4=36, Z: 40 + 4=44, Pj40 = 4=10, T: 40 X 4=160,
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